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Aun G420 quarietwise, Arcl Asym: Bearm ON, Laser OFF

Fun 420 quanetwise, ISba2 Acym: Baam ON, Lasear OFF
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Flun G420 euanebwise, DSbg2 Aspm: Baam ON, Lasar OFF

Flun G420 quarnetwise, Side Fingar Aaym: Beam ON, Laser OFF
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Flun G420 quarnetwise, LISba1 Asym: Baam O, Lasar DFF
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Flun G420 quanetwise, DSba1 Asym: Baam O, Lasar DFF
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Acc0 Asym (ppt): 49.70 +/- 76.74
USbg1 Asym (ppt): -2.06 +/- 3.97
USbg2 Asym (ppt): 1.84 +/- 2.65
DSbg1 Asym (ppt): 2.74 +/- 1.19
DSbg2 Asym (ppt): 2.22 +/- 1.09
Top Finger Asym (ppt): 5.27 +/- 4.41
Side Finger Asym (ppt): -2.60 +/- 3.06
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Run 5420, quartetwise: USbg1 vs time
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Run 5420, guartetwise: vertFing vs time

T"I}I:I __ + + +
E + + + 4+ + + o+

G0 — + =" - o+ +
— - L - L + HOF O+
— -+ - o A HHEE
— - - ey T R Y -

500 — —— [ . - -
— —— - ——————— —— ———
— - - ——— - -

400 — ——— - ——— S -
— +—— —-—— - ———
— — H— A —— ——

A0 — — ——

— — — + — ——
— — —— — ——

2 — — EEEE———
|— — —— — ——
— — ———
| — — ———

1|:‘:| __ S -

il T & 1 1 b
a 1] 140

- —
+ +
8 B — - .
= — + o+ - + +
— + o+ L3 * + H + R
?l:":l_— + o+ + e+ + B + H-F -+
— -+ + 4+ SHHHH HHEE + o+
— - +HE+ R HHEHHHE-HHH HHHEHH HHHHH
H00 — - FrTragrrry
— - -
— ——— —
S0 = — — + — - E—
— — —— — - E—
— — —— — - E—
— — —— + A - E—
l1-|:‘:|_— -— EEE——
— — —
— -— EE—
30— — —— — - E—
— — —— — - E—
— — —— — - E—
a0 = — —— A - E—
— — —
— - A
— +
1[:":'_ b -y - HE—HHEHH .
— o + = + e L]
— *
a 1 1 1 ] 1 1 ] 1
i} 100 1340

DEhg2

000 F—
— +
— +
2500 — : ;
- ; !
200 —
— ;
= i
1500 —
— + :E ..
1000 E}_ * S
— +
500 —
ETT TR e W
0 ] 100 100
EntryS
Run 5420, guartetwise: horizFing vs ima
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Run 5420, quartetwise: LUSbg2 vs time
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